ALUMINUM

6-18 U-BOLT

CHANNEL
LT SADDLE
HEX NUTS
POLE TOP
WIVEL WIND DAMPER
%AST 356 CABLE ADAPTER
ALUMINUM

\EXTRUDED ALUMINUM POLE

(2) 3/8-16 THREAD ENDS

(2) 3/8 FLAT WASHER

(2) 3/8 SPLIT LOCK WASHER
(2) 3/8 HEX NUT

(2) CABLE STOPS

(2) 3/8-16 BOLT
(2) 3/8 FLAT WASHER
(2) 3/8 SPLIT LOCK WASHER

6-18 U-BOLT
(2) 5/16-18 U-BOLT OLT SADDLE
(2) 5/16 SPLIT LOCK WASHER HEX NUTS
(2) 5/16 HEX NUT
CLAMP SADDLE ASSY.
CAST 356 ALUMINUM
POLE LENGTHS AVAILABLE PART NUMBER

18", 24", 37", 46", 60", 74", 96", 120"

$S-SBC66-SWD-46TK-23

CABLE LENGTH MAST ARM DIA.
66” 3|| _ 7|| CABLE LENGTH -
S0 AT TUBE LENGTH
120 1715 T T KN
" n " ' ‘
144 16"-20 ﬁo/Efé%YBBTL;%EI(ZVEVNTR::T:TEE':EE’?;AT/EES[%@SLE iun;n ANM MOUMTING MA ARWARE
1" 1" n N TITLE
oTES ] 65 20 - 22 APPROVALS | BY DATE VE/(EI\/IA\DB&A&EE\L\?%S
NOTES: prRAWN | TRC 5/16/11
1. STAINLESS STEEL HARDWARE. —
2. AVAILABLE WITH BAND STYLE CLAMP. ‘ . NO. ,
S C ENGINEERING AE DVVSGSF§BC66—SWD—46TK—23 REV
DO NOT SCALE DRAWING SCALE: NTSlCAD FILE: 55-S8C66-SWD-46TK-23 |SHEET 10F1




	Sheet1
	Drawing View1


